FAN gL
BH: YASENXE S BE(FELNLNL/NALEAI)
Rl NSzged Jga=s EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
paa=h= g} 56,679,072 79,371,320 N22,692,248
= 2,000,000
[ 27,710,800
CH 20,737,201
[ 6,231,071
JEUSEME 45528 FE(SELNAMNL/TALEAI) 35,592,529 36,498,200 /905,671
= 2,000,000
s 27,546,800
= 6,045,729
ASzmeded Jg+= 11,474,129 6,682,400 4,791,729
[ 9,677,800
= 1,796,329
ANEnSHLHYH = 510,200 11,000 499,200
201 2egr=3| 4,200 6,000 21,800
01 AtR2t2lt] 4,200 6,000 21,800
OXSZgeEd 32 Mzl & ?2 =29 4,200
202 04l 6,000 5,000 1,000
01 =LHN LI 6,000 5,000 1,000
OXNSdged 2l e & S8 6,000
308 AtXIEMSOIE 100,000 100,000
01 HAHHBSEEXS 100,000 100,000
OXSHAZ UWS=E *let & AH-0 AL 100,000
403 AXIEHHS X201 400,000 400,000
01 AR A =2 £ 400,000 400,000
OXNSAZE WSS e 23 AH-0 ALY 400,000
NASHAHA 2SN (=1D) 99,600 108,400 8,800
= 49,800
== 49,800
201 Ler23| 38,600 23,400 15,200
= 19,300
< 19,300
01 AtR2te|HI 38,600 23,400 15,200
OXZAIURRE & XA 2| 38,600
s 19,300
= 19,300
202 04| 10,000 10,000 0
= 5,000
=S 5,000
01 2LHoIH 5,000 5,000 0
OXIZAIHXNZE 2 5,000
= 2,500
< 2,500
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FAN gL
Y YYUSEMNT 358 FS(RELNIAML/NALEAI)
Rl NSzged Jga=s EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
04 =NI2t01H] 5,000 5,000 0
OXIZAITHAI R e $IXI0H 5,000
= 2,500
< 2,500
207 ARl 20,000 46,000 A\26,000
[ 10,000
= 10,000
NEEEET 20,000 46,000 26,000
OXXIZH - REUX U NABA 2t 17
= 20,000
= 10,000
=S 10,000
301 EtE N = 7,000 7,000 0
= 3,500
< 3,500
08 212+01=2|044| 5,000 5,000 0
OXNZAIUPI RS 213 & At ZAIHF 5,000
[ 2,500
= 2,500
11 dALEEIXIE S 2,000 2,000 0
OXZAIUAREE 28 AN 2,000
s 1,000
s 1,000
307 el2to| & 24,000 22,000 2,000
= 12,000
& 12,000
06 28= 13,000 12,000 1,000
oRRI0IMEER 13,000
[ 6,500
= 6,500
o7 g=Xs=2 11,000 10,000 1,000
Of 2= He= 11,000
s 5,500
s 5,500
AMARSEF 2N (SIHEEXH) 70,000 300,000 £230,000
308 AHAIEMSOIE 70,000 300,000 230,000
183 S| 2SO ZB & HAEAIE 70,000 300,000 A230,000
OTNA=S MHgz & JI& Xd 70,000
sS0HE HAXA M HEAG(R1) 6,075,600 4,451,600 1,624,000
[ 5,485,000
= 620,600
403 THXI M SAH=01H 6,075,600 4,451,600 1,624,000
= 5,455,000
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FAN gL
Y YYUSEMNT 358 FS(RELNIAML/NALEAI)
ol ASZEged Jig+=s EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 620,600
01 AXISHHA= 2L 6,075,600 4,451,600 1,624,000
OS0E FHANG HE01AH IHEZA 6,075,600
[ 5,485,000
= 620,600
CAl FHAXS MB0A HEAIH(=1) 4,718,729 1,811,400 2,907,329
s 4,173,000
=S 545,729
403 AXIEHMSAH=0lH 4,718,729 1,811,400 2,907,329
= 4,173,000
< 545,729
01 A= 2L 4,718,729 1,811,400 2,907,329
OFAl HSXS dEH2H WA 4,718,729
s 4,173,000
S 545,729
NS YD BN E &F 4,494,000 9,9%,800 /5,502,800
= 2,000,000
= 2,494,000
FEOIZS0HPEFHIS S SEML(ID) 2,000,000 2,928,000 928,000
= 2,000,000
403 AXIEHMSA=01d 2,000,000 2,928,000 928,000
= 2,000,000
01 AXISHHA 22 £ 2,000,000 2,928,000 928,000
OFeHllZs0g=8lg S NE 2,000,000
= 2,000,000
KSHZAY K& 2,274,000 6,803,800 4,529,800
201 er23 | 10,000 10,000 0
01 At2teltl 10,000 10,000 0
OXNSINEAIY 22| 2 10,000
202 04dl 10,000 7,200 2,800
01 =LHOHI 10,000 7,200 2,800
OXSE g= =4 10,000
403 AXIEHHSAH=201H 2,254,000 6,786,600 A\4,532,600
01 MXISHHA =2 E 2,254,000 6,786,600 A\4,532,600
od=st 2elis gAY 2,254,000
ZESENXE ZAHEX HE FHIAY 220,000 265,000 /45,000
403 X SHMSAH=01H 220,000 265,000 /45,000
01 AR A =2 £ 220,000 265,000 /45,000
Ok A &&= uA 220,000
INErag=Pl 19,469,000 19,814,000 A345,000
= 17,869,000
& 1,600,000
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FAN gL

B AASENIT HBHEY HB(FELNSNL/IALTA)

e BN Eas= E EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
NGNS (EEEE JIBAIEAIY)(2D) 13,353,000 17,198,000 A3,845,000

= 13,353,000
403 AXIEHHSAH=201H 13,353,000 17,198,000 A3,845,000
[ 13,353,000
01 XA 22 % 13,353,000 17,198,000 A3,845,000
OZN=ZE JIEAIZ ALY 13,353,000
[ 13,353,000
X2 SR AI(22) 4,516,000 2,116,000 2,400,000
= 4,516,000
403 AXIEHHSAH=201H 4,516,000 2,116,000 2,400,000
= 4,516,000
01 MXIHH A 222 4,516,000 2,116,000 2,400,000
OXNSH=+=2 XSXE A 4,516,000
[ 4,516,000
HEXAD|BAI ST (M EALY) 1,600,000 500,000 1,100,000
403 AXIEHMSAH=0ld 1,600,000 500,000 1,100,000
01 AXIEHHA 22 % 1,600,000 500,000 1,100,000
OHt223Hd - oot 22E2 - (TS 1,600,000
AHsEH =4 155,400 5,000 150,400
NEIsEH =8 155,400 5,000 150,400
201 et 3| 18,000 3,000 15,000
01 AtR2t2|HI 18,000 3,000 15,000
OXHIHsEH =X 18,000
202 04l 2,400 2,000 400
01 2LHoIH 2,400 2,000 400
OXNHIIsEH A 2,400
307 el2to| & 135,000 135,000
02 2B YAIAE & 35,000 35,000
OXNHIIsEHE 2 28 35,000
03 PIZHHEE 22X 100,000 0 100,000
OoXHIsgdgole 2 100,000
JASENXE 4TS5 FS(L33AY/LAT) 20,927,801 33,883,400 A 12,955,599
= 100,000
CH 20,737,201
= 90,600
ey 2435 A 20,927,801 33,883,400 A12,955,599
= 100,000
CH 20,737,201
= 90,600
eIRTA s =2 QIADHA 55,200 47,400 7,800
201 2= 12,200 6,000 6,200
01 AtR2t2lt] 12,200 6,000 6.200
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FAN gL
HE: YASHNIT LS FB(LYUDTHT/AUHT)
SRl IR 2yst =X CEREED
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OXNS2ZUS 3 =X 12,200
202 04l 5,000 3,400 1,600
01 =LHOHI 5,000 3,400 1,600
OXNSAZUS 33 =4 5,000
307 @120l & 18,000 38,000 220,000
02 QB HANEE R 18,000 38,000 220,000
OOIHAIY BAE e Q7 u=s 18,000
308 XtXIEMSO0IE 20,000 20,000
01 AXEHN B2 LS 20,000 20,000
oelRLAUS & NSLE &¢d 28 20,000
elEm Hot & QlMEIE XIE 5,400 6,000 2600
303 Za= 5,400 6.000 2600
01 Za= 5,400 6,000 2600
ovl2d It & QIMEIE K& 5,400
QIRTAXS FUHNEE 24 243H(21) 130,000 130,000 0
[ 100,000
= 30,000
308 AFAIEHMSOIE 130,000 130,000 0
[ 100,000
= 30,000
01 AXEN B2 LS 130,000 130,000 0
OIS FUHME 248 2435} 130,000
= 100,000
== 30,000
NSASUSIIS(ZSAHE) 20,737,201 33,700,000 12,962,799
CH 20,737,201
308 XXM SOIA 200,000 300,000 100,000
CH 200,000
183 SIS B XA AIE 200,000 300,000 100,000
OXgAZ2UsS SLHNAXN 2EXE 200,000
CH 200,000
403 MR EHSAHE01H 20,537,201 33,400,000 A12,862,79
CH 20,537,201
01 XM= 2L 20,537,201 33,400,000 A12,862,79
Ok JI= A 13,460,000
O=2J1g |4 Saltil =4 1,000,000
CH 1,000,000
Oz 33 s SHAAY el 700,000
CH 700,000
OO0I2€2IEl LXAtel XS HE 1,000,000
CH 1,000,000
Ods =g 2eE:2 &4 1,400,000
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A oEELADt
T WYSHAY|(FHLHD) OIEHIIEN
el IE 2l EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIRS2
iy 64,000
T A, 742
olE2AH| 128,000 126,000 2,000
= 64,000
T 64,000
KNSESEAMA 2R (21) 128,000 126,000 2,000
= 64,000
= 64,000
101 2124l 128,000 126,000 2,000
= 64,000
& 64,000
2 JIEt ™ 2 128,000 126,000 2,000
Il MEA B4 128,000
= 64,000
& 64,000
JlE23al 30,742 28,720 2,022
2A2Y 2384l 30,742 28,720 2,022
201 LB-2AH| 19,922 19,922 0
01 AtR2telt] 19,922 19,922 0
2AN2Y A2 19,922
202 04dl 7,220 5,198 2,022
01 =ZLHOHI 7,220 5,198 2,022
ORM2Z 2UYI 7,220
203 AR F=&l| 3,600 3,600
M 2GRS 3,600 3,600
©2092! 0I5t 3,600
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